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CoSX SINX

1. sec” 0 (1 —sin®0) %,
sect6 - Sin° O =
S
Sec™© 4%‘29: '
5. tan® x —sec’ x 6.
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sin“ A4 tan” A4

052 - cotA=|

13. cos x(secx —cosx)
| —Cos*X =
sin®X

Sin X Cos X

" 1-cos’x

SinX cosX
Slasd

CosX _
= cot X

19. (sec’ x—1I)(csc” x—1)

fany - cotrx =|

23. (1 —sin®9)(1 + tan’0)

cos - sec 0=}

5.1 Trig Identities

sin x cot x :
CJ‘f\X__CQ;S_X =
SINY o
Cos X

7. 1+cot> 4
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secxcotxsinx
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14. cos” A(sec’ A—1)

10. 1- 11

\

3. (sin@—1)(sin@ +1)

sect - tan' A=

Simplify the following.

4. 1+tan’0
Sec 6

8. csc” x(1—cos” x)

Cs?X - SIn‘X

=|

sin’ a
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15. (sec B—tan B)(sec B+ tan B)

S
|- costh = Sec? B - +an® b=
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tan” x sin® x
17. +1 18. + COSXx
secx+1 Ccos X 2)( ¥
secfxl 4\ = Sn® X +CO: >
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20. tan” 6 —sec’ Z‘ 21. and csch 2, (1 +cot’ x) (1 —cos’ x)
Sax |\ = cacty - sinx = |
cosx S\nX
SecX
24. sec — (tan0 sinb) 25. cosB (secB — cosb) 26. cse’x (1 — cos™x)
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